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Exam Id
Name:
Exam Date: 13-Mar-2023
Module Name: Teachers
Duration 120
Batch: 15:30-17:30
1) General Studies
Question No. 1 1.00
Bookmark

Which of the following latitudes passes through India?
SIS CRIQ 66Q 2AI°E, NNG F1& 69 AR ?
(A) O Antarctic Circle
2IFTR 9@ (Antarctic Circle)
(B) O Tropic of Capricorn
89 GI8 (Tropic of Capricorn)
(C) O Tropic of Cancer (Correct Alternative) (Choosen Option)
(alala ] al[ (Tropic of Cancer) (Correct Alternative) (Choosen Option)
(D) O Arctic Circle
Q1 Gl AIGTR §R (Arctic Circle)

Question No. 2 1.00

Bookmark
Which of the following separates the islands of Minicoy and Maldives?

FINYS IR 6QRT, AR 99° AIRFIA 91998 (Minicoy and Maldives) § 9218 K612
(A) O Nine Degree Channel
FIRe @91 UIeam (Nine Degree Channel)
(B) O Seven Degree Channel
696Qa Goll UM (Seven Degree Channel)
(C) O Ten Degree Channel
699 @91 SUIEaM (Ten Degree Channel)
(D) O Eight Degree Channel (Correct Alternative) (Choosen Option)
9Re Ggll SUI6SM (Eight Degree Channel) (Correct Alternative) (Choosen Option)

Question No. 3 1.00
Bookmark
Where is the head office of the Spices Board of India located?

qn6ad 691¢ A adall (Spices Board of India) o €9 ]8I0k aIduRe 68Q0I6R Aege?
(A) O Kolkata

R IMSRIG!
(B) O Guntur
gl

(C) O Kochi (Correct Alternative) (Choosen Option)
6QIG (Correct Alternative) (Choosen Option)
(D) O Kottayam
6RITICE]

Question No. 4 1.00
Bookmark
Who among the following participates in the election of 'speaker’ of Lok Sabha?
FIMGS FRIQ &Y, EAIKIRAIR 'AUSLE" AFISR6R AGIPLE FRB?
(A) O Elected members of Rajya Sabha Only
6FOR QUNLRR FFBE a9
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(B) © Members of Rajya Sabha Only
69N QUYL ey

(C) O Members of Lok Sabha Only (Correct Alternative) (Choosen Option)
6a9m emITdel 494y (Correct Alternative) (Choosen Option)

(D) O Both the members of Lok Sabha and Rajya Sabha
L EMITLEl 99° QLY el D99y

Question No. 5 1.00
Bookmark
Which of the following Acts is also known as Minto Morley reforms?
FAMGS a1 60N AT, e 6ElI6M 2°] (Minto Morley reforms) @IS6Q @ellgél?
(A) O Indian Press Act, 1910
QUG 699 2RITLET , 1910 (Indian Press Act, 1910)
(B) © Government of India Act, 1858
LIAG AR ?1&4@‘9.?1, 1858 (Government of India Act, 1858)
(C) O Indian Councils Act, 1909 (Correct Alternative) (Choosen Option)
QAL VG 2T AL, 1909 (Indian Councils Act, 1909) (Correct Alternative) (Choosen
Option)
(D) © Government of India Act, 1919
LG AR ?JEE‘Q;H, 1919 (Government of India Act, 1919)

Question No. 6 1.00

Bookmark
Which of the following smogs is also known as "Los Angeles Smog"?

FIMSS cIQ 62% 99 (smog), "nd ABBRRICERD 9" (Los Angeles Smog) RUFER 1] @dligéll 2es' ?
(A) O Photochemical Smog (Correct Alternative) (Choosen Option)
6PICRIERERIM g6l (Photochemical Smog) (Correct Alternative) (Choosen Option)
(B) O Sulfurous Smog
Mg €9 (Sulfurous Smog)
(C) © Purple Smog
adm gel (Purple Smog)
(D) O Radioactive smog
69662134 g9l (Radioactive smog)

Question No. 7 1.00

Bookmark
Where is the Headquarters of International Monetary Fund located?

2SR IB1eL 7191 21§ (International Monetary Fund) Q ¢JSiUIRS 62R0I69 2ASFe?
(A) © London
mela
(B) O Rome
SAlg
(C) O Washington D.C. (Correct Alternative)
¢I3ePS'e D.C. (Correct Alternative)
(D) O Geneva
Qo

Question No. 8 1.00

Bookmark
Which of the following Constitutional amendment Acts inserted Part XIVA to the Indian Constitution?

FIMYS crIQ 699 ARG LGSR ARITLE, RSN ARIFERX QUG XIVA Q@ 90&?
(A) O 50th Constitutional Amendment Act

50 Q1 AFRIG D°EEIRIQ 2T
(B) O T71st Constitutional Amendment Act

71 G ARG A°6EIRIS ST oe!
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(C) O 42nd Constitutional Amendment Act (Correct Alternative)
42 Q¢ AFRIIQ D°651IIQ 2ITAE (Correct Alternative)

(D) O 99th Constitutional Amendment Act
99 LF TR LGSR 2T LA

Question No. 9 1.00

Bookmark
Which eminent jurist and constitutional expert described the Preamble of the Indian Constitution as the
'identity card of the Constitution'?

699 S9% 2R TR G2l ARIS F6TH, ANGIA FRNFR 9LG! (Preamble of the Indian
Constitution) § 'AFIFR 9G4 OE' (identity card of the Constitution) 63IR S4aI F088?
(A) O N.A. Palkhivala (Correct Alternative) (Choosen Option)
9.9, dIM@SINI (Correct Alternative) (Choosen Option)
(B) O K.M. Munshi
6. 961 ged
(C) O Sir Ernest Barker
IR 966Y QIFD
(D) O Dr.B.R. Ambedkar
@18 Q. 29 2R

Question No. 10 1.00
Bookmark
Who among the following held the presidentship of the Indian National Congress thrice before Indian
Independence?

GRS FRIG A9, ARG NG 629 YIQ FR2UR AINLIA RIS1E °659R ARG 2J6m?
(A) O W.C.Banerjee
eeR . 4. QUIed
(B) O Dadabhai Naoroji (Correct Alternative) (Choosen Option)
LIVG 216901 (Correct Alternative) (Choosen Option)
(C) © Badruddin Tyabiji
Q9ERG QUL
(D) © Surendranath Banerjee
g69GRI2 QUIRE

Question No. 11 1.00

Bookmark
Which among the following Institutions, developed the Unified Payments Interface (UPI) in India?

FINYS UG 68R A°Y, WASER PEFING 606614 REREPD &1 Unified Payments Interface (UPI) S@86
QR ?
(A) O National Informatics Centre
FULRIR AFCPEITRY 694 (National Informatics Centre)
(B) O National Statistics Office
AR VISR 2EPA (National Statistics Office)
(C) O National Payments Corporation of India (Correct Alternative)

UldeIm 646414, eqlcdicqas 2 Qdall (National Payments Corporation of India)
(Correct Alternative)

(D) O State Bank of India
W1 6/G @Yl (State Bank of India)

Question No. 12 1.00
Bookmark
Which of the following Articles of the Indian Constitution deals with "equality before the law"?
ARG FRILA TS FRIQ 696 AR, “URES 2FER ARSI (equality before the law) FHAER
QERS! 2R ?
(A) O Article 27
gl 27
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(B) O Article 14 (Correct Alternative) (Choosen Option)
gl 14 (Correct Alternative) (Choosen Option)
(C) O Article 23
gl 23
(D) O Article 19
il 19

Question No. 13 1.00

Bookmark
Who among the following was the first President of Utkal Pradesh Congress Committee?

TAMEE AP @Y, AR 694 @°699 KFITR g2l ARDT 6m?
(A) O Chaudhuri Kashinath Das (Choosen Option)
6@?(},{91 @lsl@le] @19 (Choosen Option)
(B) © Madhusudan Das
RIYeq Q19
(C) O H.K. Mahatab
9%, 6%. flecle
(D) O Gopabandhu Das (Correct Alternative)
60119 @l (Correct Alternative)

Question No. 14 1.00

Bookmark
The part of the Himalayas lying between Satluj and Kali rivers is known as:

GRS I9° QIR Q1 FIIER 2SEE LAIRAR 21°¢, _ QUS6R Q4€IgEl 26% |
(A) O Himachal Himalayas (Choosen Option)
2CIeR TAIRG ASEAIRI (Choosen Option)
(B) © Purvanchal Himalayas
g1ER SAIRA aSeaIRl
(C) O Kashmir Himalayas
QU1 TARA ASSSIRI
(D) © Kumaon Himalayas (Correct Alternative)
A8 FAIRA ASGAIRI (Correct Alternative)

Question No. 15 1.00

Bookmark
Phobos is the natural satellite of which planet?

6EFI6RIS! (Phobos), 699 929 JI9Ee QUGS 2166 ?
(A) O Mercury
QI (Mercury)
(B) O Venus
da (Venus)
(C) O Jupiter
QE9% (Jupiter)
(D) O Mars (Correct Alternative)
F16Pw (Mars) (Correct Alternative)

Question No. 16 1.00

Bookmark
Which is the second largest continent in terms of area?

681G 2RINEA 6265, 010 QLRSI F1FI64H 266 ?
(A) O South America
Q84 2600 !
(B) © North America
QAR 2R
(C) O Africa (Correct Alternative)
2RI (Correct Alternative)

4>f
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(DY O Asia
ggal

Question No. 17 1.00

Bookmark
The All India Khilafat Committee was formed in which of the following places in March 19197

¢lIg 1919 69 FEmge FRIQ 699 FIT6S 2R R&2 JRICPS FF G109 FAUAIRMI?
(A) © Bombay (Correct Alternative)
96%, (Correct Alternative)
(B) © Delhi
GR
(C) © Calcutta
mae!
(DY O Madras (Choosen Option)
¢lgl4d (Choosen Option)

Question No. 18 1.00

Bookmark
Wheo among the following is the first President of New Development Bank?

FANGC AR &9, QU 6eeamUesId QYIe (New Development Bank) ol @élfl 609684 219G ?
(A) O Gita Gopinath
SNel 65lINRI2l (Gita Gopinath)
(B) O KV Kamath (Correct Alternative)
66 & 219121 (K V Kamath) (Correct Alternative)
(C) © Ross Ronald
g 69URIM. (Ross Ronald)
(D) O Masatsugu Asakawa
A1) 2IdIXlEl (Masatsugu Asakawa)

Question No. 19 1.00
Bookmark
When was the Utkal University founded?
QYR FYRQUIRG 669 98K 6LIRAMI ?
(A) O 1936
1936
(B) O 1923
1923
(C) O 1943 (Correct Alternative)
1943 (Correct Alternative)
(Dy O 1952
1952

Question No. 20 1.00

Bookmark
Who among the following led the Bardoli Satyagraha in 18287

GIAmLe FrRIQ &, 1828 192169 QeI AsYIgeR 600 6ameem?
(A) O Sardar Vallabhbhai Patel (Correct Alternative) (Choosen Option)
Ao R VIR 969" (Correct Alternative) (Choosen Option)
(B) © Mahatma Gandhi
Q1] DlE
(C) O Jawaharlal Nehru
GILIAMIM 626LR
(D) O MN Roy
961 IR Q6L

Question No. 21 1.00
Bookmark
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Who is the called as the Father of the "White Revolution" in India?
WNGER RILIg, "696 " (White Revolution) Q 89 qLILIN?
(A) O M S Swaminathan

g1 94 gIengiee
(B) O Arun Krishnan

AP U
(C) O Nirpakh Tutej

F6da 96w
(D) O Verghese Kurien (Correct Alternative)

@519 §09Q (Correct Alternative)

Question No. 22 1.00
Bookmark
In which year, was the partition of Bengal announced by Lord Curzon?
606 OF, AT FEET QIR SFF QGF (partition of Bengal) 68188l SRUAIRARI?
(A) O 1905 (Correct Alternative) (Choosen Option)
1905 (Correct Alternative) (Choosen Option)
(B) O 1900
1900
(C) O 1902
1902

(D)O 1914
1914

Question No. 23 1.00
Bookmark
When was the Central Goods and Services Tax Act enacted by the Parliament of India?
QR 2°99 FIRU 6291 AT I8° 6991 @R 2RJTAC (Central Goods and Services Tax Act) 686< DEAR
cal@elml ?
(A) O 2018
2018
(B) O 2010
2010
(C) O 2017 (Correct Alternative)
2017 (Correct Alternative)
(D) O 2019
2019

Question No. 24 1.00

Bookmark

When was the National Board for Wildlife constituted by the Government of India under the Wildlife
Protection Act 19727
FEINS goull 2ime 1972 (Wildlife Protection Act 1972)2igdIS QIRE d@ioE 19 @191 @audien 691G
(National Board for Wildlife) 6@6< 9106 6IR2JRI ?
(A) O 2003 (Correct Alternative)

2003 (Correct Alternative)
(B) O 1993 (Choosen Option)

1993 (Choosen Option)
(C)o 1972

1972

(D) O 2004
2004

Question No. 25 1.00

Bookmark
Which of the following Articles of the Indian Constitution provides for the Office of Attorney General of
India?
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QUSRI AR TIREE FRIQ 699 AIRIER, 29 6REEAUM 2 &R 2P (Office of Attorney General
of India) FYAER QERH &K ?
(A) O Article 148 (Choosen Option)
Il 148 (Choosen Option)
(B) O Article 76 (Correct Alternative)
I 76 (Correct Alternative)
(C) O Article 84
Il 84
(D) O Article 154
gl 154

Question No. 26 1.00
Bookmark
In which year, was Kheda Satyagraha started?
69@ 94, 68191 AGUIGL (Kheda Satyagraha) 2IQg 62IRRImI?
(A O 1927
1927
(B) O 1918 (Correct Alternative) (Choosen Option)
1918 (Correct Alternative) (Choosen Option)
(C)O 1916
1916

(D) O 1930
1930

Question No. 27 1.00

Bookmark
In stratosphere, which of the following elements acts as a catalyst in the degradation of ozone and the
release of molecular oxygen?

RI6FIATFAR (stratosphere) 61, FIRGS QAILIFYLS FRIQ 6995, G6RIRE ASVL (degradation of ozone)
9Q° 2SS AGRIS (molecular oxygen) €12 9Q16% I8 AR (catalyst) QIRER qldy @ea?
(A) O Sodium
621G AE (Sodium)
(B) O lIron
6mIL (Iron)
(C) O Chlorine (Correct Alternative)
6RI9S (Chlorine) (Correct Alternative)
(D) O Potassium
A8 (Potassium)

Question No. 28 1.00

Bookmark
Which of the following is the largest asteroid in our Solar System?

FINYS FIQ 679F, AN 6412 FGRER AF0IQ 96 FIL1¢] (asteroid) 26T ?
(A) O Didymos
G049 (Didymos)
(B) O Ceres (Correct Alternative)
64694 (Ceres) (Correct Alternative)
(C) O Dimorphos
@acbg (Dimorphos)
(D) O Bennu
699 (Bennu)

Question No. 29 1.00

Bookmark
Which of the following parts of the Constitution of India deals with the Fundamental Duties?

QRS IRIGR GRS AU 696 RUTES, 661RR FESY (Fundamental Duties) SHAER AERE 2& ?
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(A) O Partlv
Wil IV
(B) O Partlll
QI 111
(C) O PartIVA (Correct Alternative) (Choosen Option)
@I%l IVA (Correct Alternative) (Choosen Option)
(D) O Partll
wlol 1

Question No. 30 1.00

Bookmark
The Rivers Alaknanda and Pindar join at which among the following places?

FYMYS RIQ 679 IIF, ARFIGL! 96° TIR P91 TRE IR 26T ?
(A) O Karnaprayag (Correct Alternative)
E?éjﬂﬂlﬂ (Correct Alternative)
(B) O Devprayag
649gLlol
(C) © Rudraprayag
QYo
(D) © Vishnu Prayag

Qg8 galg

2) Arithmetic

Question No. 1 1.00
Bookmark
What will be the HCF of 464, 1136 and 725, 1775 respectively?
464, 1136 9Q° 725, 1775 Q1 91.4.9 L2lIget] 6966 699 ?
(A) O 16, 25 (Correct Alternative)
16, 25 (Correct Alternative)
B) O 18,21
18, 21
)OO 21,25
21,25
(D) O 20,23
20, 23

Question No. 2 1.00

Bookmark
The selling price of the table is T 10208 after a discount of 12%. If the cost price is 50% of the marked
price, then what is the cost price?(In %)
12% Q QLIT U691 99 699N &7 MY T 10208 6T | IQ ILIQ g9 MY, TS FJRIRQ 50% 99, 6969 g4
£y 6962 ? ( 69)
(A) O 5900
5900
(B) O 5800 (Correct Alternative)
5800 (Correct Alternative)
(C) O 5950
5950
(D) O 5850
5850

Question No. 3 1.00
Bookmark
What value should come in the place of question mark (?) in the following question?
3113 x 7 + 123%12 = 3434 + 7381
@€ 9969 99 5% (?) 26 69% MY 2199 ?
3113 x 7 +123x12 = 3434 + 7381
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(A) O 3 (Correct Alternative)
3 (Correct Alternative)

B O
© o

OO

AR OO OO

Question No. 4

Akil rows 46.5 kmph in still water. If the river is running at 15.5 kmph, it takes him 90 minutes to row to a

place and back. How far is the place? (In km)

2GR AR ARER 46.5 kmph 699169 @6 ORI | 49 Q16 15.5 kmph 696169 JLIEE 62Q2UN I9° Gl
SRR IS IRg I 6 62rR TR QIR 90 A7E A7 AIES | LT GG 6§6E ? (km 69)

(A) O 32
32

(By O 33
33

(C)O 34
34

(D) © 31 (Correct Alternative)
31 (Correct Alternative)

1.00
Bookmark

Question No. 5

When an article is sold at ¥ 11600, it incurred a loss of 20%. Find the cost price of the article. (In )
60696960 9@ AIFIgNg 2 11600 6 3G @RI, 20% ST €9 | AR G4 IRY F¢a a9 | (Z 69)

(A) O 13500 (Choosen Option)
13500 (Choosen Option)
(B) O 14500 (Correct Alternative)
14500 (Correct Alternative)
(C) O 12500
12500
(D) O 11500
11500

1.00
Bookmark

Question No. 6

Pipe A can fill a tank in 492 minutes and Pipe B can fill the same tank in 984 minutes. If both pipes are

opened together, how many minutes will it take to fill the empty tank?

AR A, 96 SIEq 492 A7562 94 K69 99° ARG B, 690 §I&q 984 ART6n 94 a6 | OT @l dIRag

K10 6SIRITN, 6861 SR S1RG 94 F99Ig 6660 AFT A RIGS ?
(A) O 316
316
(B) O 324
324
(C) O 328 (Correct Alternative)
328 (Correct Alternative)
(D) O 320
320

1.00
Bookmark

Question No. 7

If 213% of X = 397% of 213, what is the value of X?
A8 X 9 213% = 213 Q397% g9, X 9 F)mY 6965 ?

(A) O 387
387

1.00
Bookmark
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(B) O 377
377
(C) O 397 (Correct Alternative)
397 (Correct Alternative)
(DY 367
367

Question No. 8 1.00

Bookmark

Find the area of a trapezium, given that the sum of parallel sides is 82cm and distance between them is
41cm. (In cmz)
48 SIRGRZOR 6[GTR Fda 79, @R 2] IR QIgYSIA AT 82cm IK° 6QAIGT FIIER YRG! 41cm |
(cm? 69)
(A) O 1781

1781
(B) O 1981

1981
(CyO 1881

1881

(D) O 1681 (Correct Alternative)
1681 (Correct Alternative)

Question No. 9 1.00

Bookmark
Find the value of x.
[(2187+105%35)+9]+1 = x?+(15+375%25)
x (Y Gela a9 ?
[(2187+105%35)+9]+1 = x2+(15+375x25)
(A) O 9 (Correct Alternative)
9 (Correct Alternative)

(B) O 12
12

o n
1

(D)O 10
10

Question No. 10 1.00

Bookmark

The sum of two numbers is 209. If half of the one exceeds one-seventh of the other by 28, find the
smaller number.
ga@ A°GYIR 6ISITPR 209 26S | 9T 661159 LI 2I, AY L°HYIR @-dgell°dIg 28 2l)a 9, J9E
IS Fda aa |
(A) O 80

80
(B) O 60

60
(C) O 90 (Correct Alternative)

90 (Correct Alternative)
(D)o 70

70

Question No. 11 1.00

Bookmark
A car travels from a place X to Y in 9 hours. It covers half the distance at 40 kmph and the remaining
distance at 50 kmph. What is the total distance between X and Y? (In km)
@ Gl I9 X QY @ 9 W&lieal LIE 969 | 64 LIS A8 QRG! 40 kmph 69 99° 2988 9QGI 50 kmph
690169 2BTF F6B | X 9L° Y FIIER 6511 RG] 69687 (km 69)
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(A) O 380
380
(B) © 400 (Correct Alternative)
400 (Correct Alternative)
(C)O 410
410
(D) O 390
390

Question No. 12 1.00

Bookmark

Find the total surface area of a cone whose radius is 5 cm and slant height is 9 cm. (Use = 22/7 and in
cm?)
49 6318 A 9618 JHORR 6T F4d 69, AILIRQ UIKIS 5 cm I9° 98 @881 9 cm 26T | (T = 22/7
ULLIR AR IF° cm? 69)
(A) O 230

230
(B) O 220 (Correct Alternative)

220 (Correct Alternative)
(CYO 250

250

(D) O 240
240

Question No. 13 1.00
Bookmark
There are 10 numbers. Average of the first 9 is 22 and that of the last 9 is 23. If the last number is 24, find
the first number.
10 © €PGIYl 2R | 92191 9 & L°FUIQ QIRILIR 22 99° 2ZE 9 § A°HUYIR QIQULIR 23 26T | IT AR L°GIT 24
94, 6562 9IFl YR Feol a9 |
(A) O 17
17
B)O 13
13
(C) O 15 (Correct Alternative)
15 (Correct Alternative)

D)o 19
19

Question No. 14 1.00

Bookmark

Z 1274 is divided among 2X, 6Y and 8Z so that the share of X, Y and Z are in the ratio 3:2:1. Then, how
much does X get? (In ¥)
1274 @ 2X, 6Y 9G9° 8Z ¢1i6Q @R QIS FAUIIRIEE X, Y ¥99° Z Q QI dQdle 3:2:1 680, 6668 X Q
wlol 696e 69ml ? (X 69)
(A) O 147 (Correct Alternative)

147 (Correct Alternative)
(B) O 145

145
(CyO 143

143
(DyO 149

149

Question No. 15 1.00
Bookmark
The product of two numbers is 1584 and their L.C.M is 396. Find the G.C.D of the numbers.
IRT DI FACPR 1584 99° 6TCIGT M.91.G. 396 A6T | A°HUIFBFR AT ARIAE QUGS (G.C.D) Fda
@ |
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A O 8
8

(B) © 4 (Correct Alternative) (Choosen Option)
4 (Correct Alternative) (Choosen Option)

©) O
(D) O

NN OO

Question No. 16 1.00
Bookmark

A mixture contains milk and water in the ratio 21:22. If 11 litres of milk is added to the mixture, milk and
water in the mixture becomes equal. Find the quantity of milk in the mixture in litres before adding.

4@ 08669, F1 99° AR AGUIS 21:22 266 | IQ A446R 11 R A1 TGN, 6862 g6 MR IQ°
@R Jele 6TIRAN | 2008 K18 fgl Tl gER g6 HoR ARCNE AT6R fda a9 |
(A) O 221
221
(B) O 241
241
(C)O 211
21

(D) © 231 (Correct Alternative)
231 (Correct Alternative)

Question No. 17 1.00
Bookmark
Average of 11 consecutive numbers is 516. If the average of 15! 5 numbers is 513 and the average of last
5 numbers is 519, find the middle number.
11 § o9 2°6IQ LIQILIR 516 2166 | AT alel 5 T s LIRIRIT 513 §9 98° 2TF 5 § I°6lvIx FIAULIR
519 €49, 618 2°HUIT F¢la aQ |
(A) O 516 (Correct Alternative)
516 (Correct Alternative)
(B) O 520
520
(C)O 512
512

(D) O 508
508

Question No. 18 1.00
Bookmark
After 3828 litres of petrol was poured into the tank, it was still 12% empty. What is the total capacity of the
tank? (In litres)
Q@ PIRF6R 3828 MER 6C6CIM QB KGRI U6 & 9L 12% IR QERI | FIGA 67116 AFIGI 6863 ? (MER 6QY)
(A) O 4350 (Correct Alternative)
4350 (Correct Alternative)
(B) O 4050
4050
(C) O 4250
4250
(D) O 4150
4150

Question No. 19 1.00
Bookmark
Albert can do a piece of work in 215 days and Brayan can do the same work in 430 days. With the help of
Cristian, they finished the work in 86 days. Working alone, Cristian can do the same work in how many
days?
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2RSS 9] RIFg 215 YR69 KRQIER 99° QI 69R LAIQ RIFG 430 TF6R KEAIER | GRAIGS AlLly
60@, 69716E 86 QR6R QINTY 6418 QA8 | TR2IR IRIR1 AP FR 6968 Y6 AIATY 68N FQAARL?
(A) O 2256

225
(B) O 245

245
(C)O 235

235
(D) O 215 (Correct Alternative)

215 (Correct Alternative)

Question No. 20 1.00

Bookmark
When 6978854367 is divided by 9, what is the remainder?
6978854367 q 9 FIAU WISl @6M, WGIEIY 6R66 699 ?

(A O 4
4
(B)O 2
2

(C) O 0 (Correct Alternative)
0 (Correct Alternative)

DO 6
6

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00
Bookmark
A man starts from point A and walks 7km towards East. He turns right and walks 5km; turns right again
and walks 6km. He then takes another right and walks 8km. He walks 5km towards East; turns right and
walks 3km and turns left and walks 6km to reach B. How far is A from B?
TG A Q 2I9F 9 W68l U, QG‘ 2AIgQ 7km SIMEM | 6 QLIS SMEM 99° 5km SIMEM; Y8 GILIfg 9MeM
95° 6km GIR6M | 66 Q& SILIGG gREM 9S° 8km SIREM | 64 9S 29 5km SIRER; GILIHG SRem 99°
3km SIRNEM I9° QIFIG YMEM YG° 6km SIM B 65 ALF6M | B OIl A 6968 9069 2RE ?
(A) O 9km
9km
(B) O 8km
8km
(C) O 11km (Choosen Option)
11km (Choosen Option)
(D) O 12km (Correct Alternative)
12km (Correct Alternative)

Question No. 2 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
PT, NR, JN, LO, UY .
ﬁ‘ﬂfﬂﬁl%iﬁ AIETQ SI6QUT IG FTF QUNER 499 AT 99° IR L Fl0R K98 | 69QF 69R AALR 2366
Q6% ?
PT, NR, JN, LO, UY
(A) O NR

NR
(B) O IN

JN
€O PT

PT
(D) O LO (Correct Alternative) (Choosen Option)

LO (Correct Alternative) (Choosen Option)
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Question No. 3 1.00
Bookmark
Find the next term in the given series.
20, 10,105,105, 115, 7
d96 A6 e A°suIF adasa?
20,10,10.5,10.5,11.5, 7
(A) O 155
15.5
(B) O 17.25 (Correct Alternative)
17.25 (Correct Alternative)
CYO 175
17.5
DYO 125
12.5

Question No. 4 1.00

Bookmark
If all the vowels are replaced by the immediate next consonants from the English alphabet series in the
word IRRESPONSIBILITY, then the letters of the word are arranged alphabetically, which letter will be
second to the left of the sixth letter from the right?
QG IRRESPONSIBILITY §969 2°Qa1 Q€¢linl ga6Q 9919 %Q?@ij QIG?Q_@Q JoeE QUEBRed FIal
952106 FAUAN, SI'I6R AVAYEF IR §A6R ARIR QAN 6561 669 ATAG, FITIE A5Q IF VAR
QIF 99 GG AR 629 ?

(A O R
R

B O N
N
(C) O P (Correct Alternative)
P (Correct Alternative)
(D) O L (Choosen Option)
L (Choosen Option)

Question No. 5 1.00
Bookmark
Find the next number in the series.
8,9,12,18,28,7
49 dgaelen dReEl 2°HIT fda aa ?
8,9,12 18, 28,7
(A) O 40
40
(B) © 43 (Correct Alternative) (Choosen Option)
43 (Correct Alternative) (Choosen Option)
(C) O 42
42
D)yO 36
36

Question No. 6 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: D<A;N<O;D=N;Y2A;0=M
Conclusion:
HNY=z=N
i)D<M

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows
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(D) Neither i nor ii follows
(E) Both i and ii follow.

4969, 07 QUIRISR AMER 2JS! E]ﬁé, SRIYCR HILINE | 9§ TRTY R gﬁ‘!‘?‘ a9d FALNE :
e@WYY: D<A N<O;D=N;Y2A;0=sM

dad:

hYzN

i)D<M

{9 g 90Q TR7% 048 9]
(A) 6296 0ad i AGARE F6R
(B) 6297 Gad i AGAE 26Q
(C) i QY ii AQAQE [6Q

(D) i K€Y ii A K6 FIE

(E) Q@ i 99° ii 2GR K6R
(A O

B)O
€O

(D) O B (Correct Alternative)
B (Correct Alternative)

> 0000

Question No. 7 (Case Study From Q.No 8 To 12) 5.00
Bookmark
Directions: Read the given information carefully and answer the questions that follow.
A, B, C, D, E, F, Gand H are 8 friends sitting around a circular table not necessarily in the same order.
Out of them, 4 are males and 4 are females. All of them are facing centre.
a) H sits close to A and faces G who is a female.
b) C and B sit exactly opposite to each other.
c) No male faces another male.
d) C sits closer to E, compared to B.
e) Amale and a female sits close to C.
f) A sits third to the left of F.
g) H has females on its either sides.
TSR : gOR Joalg OMKIES 99 98° QRIS 989 299 §2 | .
8@RESF A B, C, D, E F GY9° H, 98 §RIFIN 669M SIRU6s ?QS@, aeIe ge16Q 949! KRR G6X |
6412) F1RIQ 4 R4l YR I9° 4 KEl FIERI AT | 96169 6@ 2ILq ?l‘f AoRE |
a) H, A @ 59969 988% 99° G @ 218 L 998E 95° G 98 8R! 298 |
b) C 99° B dA90 O FUS6 998% |
c) 691613 99, 2G4 JRUR 2Ieq (L K7 FILIS |
d) C, B @ 2698l E @ 2@ Fa06q @da8 |
e) @66l godl 99° @64l TRl C TRT6q 94T |
f) F @ QIf1 95 QRI06 A @TRT |
g) H 9 Q00 9969 FIERI 288 |

Bookmark
Who sits third to the right of G?

G & Q916 99 @169 &9 Q48 ?

A OB
B

(BY O A (Correct Alternative)
A (Correct Alternative)
(C) O E (Choosen Option)
E (Choosen Option)

Do F
F
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Bookmark
Who among the following is a male?

Qe FrRIQ & @64 gE 6% ?

(A) O

mm oW

(C) O E (Correct Alternative) (Choosen Option)
E (Correct Alternative) (Choosen Option)

DO G
G

Bookmark
Which of the following is the odd man out, with respect to the arrangement?

QUagl 99169, GRS IR 699E 2LEPS (odd man out) 2166 ?

(A) O DG
DG
(B) O FC (Correct Alternative)
FC (Correct Alternative)
(€)O EA
EA
(D) © HB (Choosen Option)
HB (Choosen Option)

Bookmark
How many people sit between F and C, counting to the right of C?

C @ QITl8l 95Q SR R6M, F 99° C FRIEA 6066 0él 94 9URST ?
(A)O 1
1
B)O 3

3

(C) O 4 (CorrectAlternative)
4 (Correct Alternative)

DO 2
2

Bookmark
Who sits exactly opposite to E?

E @ OR 8dUe6a &9 948 ?

(A O D
D

(B) O F (Correct Alternative)
F (Correct Alternative)

€0
(OO

o ITT

Question No. 13 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) VIR QA 6LIRNYS| FIMES TC FRIQ 6996, 998 999 dR9El 58 699 ?
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(AO 3
3
(B) O 2 (Correct Alternative) (Choosen Option)
2 (Correct Alternative) (Choosen Option)
C O 4
4
D)o 1
1
Question No. 14 (Case Study From Q.No 15 To 17) 3.00
Bookmark
Directions:
In a certain code language:
‘wen den sen men' is written as 'eat healthy drink water’,
'‘ben ten den sen' is written as 'drink milk water daily’,
'ten pen yen wen' is written as 'daily eat red fruits’,
'ven men hen ven' is written as 'healthy fruits are cheap'.
FELENSR
4@ GaY 6918 AUV6S :
‘wen den sen men' q 'eat healthy drink water' GIR6% 6mSl AR,
'ben ten den sen' § 'drink milk water daily' @965 6msl| AR,
'ten pen yen wen' q 'daily eat red fruits' QY6 6ME IS,
'yven men hen ven' § 'healthy fruits are cheap' Q969 6R6l RS |
Bookmark
What is the code for 'water' in the given code language?
d9a@ 6119 QUYIER 'water' Q 671% @él 6€% ?
(A) O wen
wen
(B) O sen
sen
(C) O den
den
(D) O either den or sen (Correct Alternative)
den @€ sen (Correct Alternative)
Bookmark
What does the code ‘'hen ten' stand for?
6&12 'hen ten' RI€I QIR g9gey 2leg' ?
(A) O are daily
are daily
(B) O cannot be determined (Correct Alternative)
S04 SIKIQ AINE QIL (Correct Alternative)
(C) O arecheap
are cheap
(D) O cheap daily
cheap daily
Bookmark
What is the code for 'healthy' in the given code language?
d9a 6919 QUYIER 'healthy' Bl 6918 @él 689 7
(A) O den
den
(B) O wen
wen
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(C)O vyen
yen

(D) O men (Correct Alternative)
men (Correct Alternative)

Question No. 18 1.00

Bookmark
After walking 9km, a boy turned left and walked 6km. He then took a left turn and walked 11km. If he
stood facing West direction finally, towards which direction did he walk the first 9km?

@66l FIRT 9km SN TER Qlelg Q@ﬁﬂl ge© 6kmSI'F~ElﬂI | QI'UER 62 97 FUET 62118 62R 9S° 11km SIRR |
2@ 69 69969 Q8 Gog ‘cfl@u%‘@?.ll\‘], 6869 690 G6l6% 6€ gelfl 9km SImeIRI ?
(A) O South
QRIél
(B) O East (Correct Alternative) (Choosen Option)
'E]_'Gi (Correct Alternative) (Choosen Option)
(C) O West
asiel
(D) O North
LR

Question No. 19 1.00

Bookmark
If, in the number sequence 8321624 37 17 2 all the odd numbers are increased by two and all the
even numbers are decreased by two, then the new number sequence is arranged in ascending order,
which will be the fifth digit from the left?

98, Y GA832162437 17269, A3 AYF 6N R 98 AAIAIT 99° 1 Y LHYIER 9
2161 QUM 98° §OR LSl GFIg AFGEER (GRIFQ §¢) JRIR G2, 6668 QIFl IEQ A5 2a, 60T
699 ?

A O 2
2

(B)YO 4
4

(C) O 5 (Choosen Option)
5 (Choosen Option)

(D) O 3 (Correct Alternative)
3 (Correct Alternative)

Question No. 20 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
G, TOK C B i
G‘E}@%i@ AIFTQ SI6RUT Y@ FEY QIKER 99 ST I9° IR EL F06 K98 | 6896 69m 79 ALHe
gee?
G T0KC
(AO G

G

(B) © O (Correct Alternative) (Choosen Option)
O (Correct Alternative) (Choosen Option)

©oc
C

D)o K
K

Question No. 21 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? ]
(1), (2), (3), (4) VIR TR 6L FINYE TS IR 696T, IR TER QU JEIAR FRTEE AGR
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aeg ?

(A) O 4
4

(B) O 3 (Correct Alternative)
3 (Correct Alternative)

€ o1
1

(D) O 2 (Choosen Option)
2 (Choosen Option)

Question No. 22 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘O > A’ definitely true?

M<QO>N>D7?7A<Y ] .
agald ‘0 > A @ Gle QEd 964 Rl /<l aR QAmele AR 669 JO18, 9@ 9RgaI§ea <l dgl
89 (?) 9 95gIde @99 ?
M<O>N>D?A<Y
(A)O <
<

(B) © = (Correct Alternative)
= (Correct Alternative)

0O =
<

(D) O Either=or=
<@e =

4) Computer and Internet Awareness

Question No. 1 1.00
Bookmark
The concept of getting the value from a different cell in to the current cell is called

9@ @9 69 (different cell) Q AIFEH 69R (current cell) F1IG FRYS (value) § 21T EJG‘EJIQQEE_‘L @'dl
el ?

(A) O Cell Clear
69R AR (Cell Clear)
(B) O Cell Styles
odm Blomd (Cell Styles)
(C) © Cell Referencing (Correct Alternative)
6AM 6QAPERGAGP (Cell Referencing) (Correct Alternative)
(D) O Conditional Formatting
Rd9IM relide (Conditional Formatting)

Question No. 2 1.00

Bookmark
follows the fetch, decode and execute steps in their operation, as specified by the instructions
in the program.
6dIgIFI6R ALY QLG 2 ), , 6LFlIRE UUEQALRER 6CPG, G6RIE I9° IRLgUe 6899 (fetch,
decode and execute steps) 2IQUE K6 |
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(A) O Memory Unit
6616611 HGG (Memory Unit)
(B} O CPU (Correct Alternative)
CPU (Correct Alternative)
(C) © RAM (Choosen Option)
RAM (Choosen Option)
(D) © Motherboard
F1GQ6QI¢ (Motherboard)

Question No. 3 1.00
Bookmark
What will Shift + F7 do in a Word application?
4l¢ 21P6R9G (word application) 68! Shift + F7 Q QI¢l @'&1 ?
(A) O Open the hyperlink
LR 3697 9991 (Open the hyperlink)
(B) O Open the webpage
6896UR 3648 90Ql (Open the webpage)
(C) O Open the image
Q609 3699 98Q1 (Open the image)
(D) O Open the thesaurus (Correct Alternative) (Choosen Option)
629199 B369% @R191 (Open the thesaurus) (Correct Alternative) (Choosen Option)

Question No. 4 1.00
Bookmark
What is the ASCII value for 'A'?
'"A' QL ASCII ¢]mY 6966 ?
(A)O 84
84
(BY O 65 (Correct Alternative)
65 (Correct Alternative)
©) O 85
85
(D) O 68
68

Question No. 5 1.00
Bookmark
The document that is printed on a paper is known as
% RIFIR69 864 wquetl€l (document that is printed on a paper ) @ @€ QLI ?
(A) © Blank copy
ql= @9 (Blank copy)
(B) © Draft copy
@I 28 (Draft copy)
(C) O Hard copy (Correct Alternative) (Choosen Option)
gI¢ «d (Hard copy) (Correct Alternative) (Choosen Option)
(D) O Soft copy
ag @9 (Soft copy)

Question No. 6 1.00

Bookmark
is the personal assistant that is integrated into Windows 10 Operating System.

6208 QUBHIS dLING (personal assistant) €IEl 641G 10 2deaGe Q&€ (Windows 10
Operating System) 69 R@64S (integrate) 62I1D& |
(A) O Siri
g (Siri)
(B) O Alexa
2lemgl (Alexa)
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(C) O Cortana (Correct Alternative)

6RIFIR (Cortana) (Correct Alternative)
(D) © Thumbnail

2asam (Thumbnail)

Question No. 7 1.00
Bookmark
Main memory is a storage device that loses its contents when power is turned off.
6610 6516611 (Main memory) 62Q& 9@ 6RIEQR GRURA (storage device) DRI, IGYS Q9
6QINGEM YLIR FVASG (contents) TR |
(A) O Magnetic
FI695G (Magnetic)
(B) O Transistor
189 (Transistor)
(C) O Volatile (Correct Alternative) (Choosen Option)
cuIMIFIam (Volatile) (Correct Alternative) (Choosen Option)
(D) O Permanent
A6 9E (Permanent)

Question No. 8 1.00
Bookmark
What is the shortcut key to move to the next cell in a row?
4@ 69l (row) 66! Q6N 69 (next cell) g £ K0! AR GRS @1 (shortcut key) @6l ?
(A) O Home
Home
(B) O End
End
(C) © Tab (Correct Alternative) (Choosen Option)
Tab (Correct Alternative) (Choosen Option)
(D) O Esc
Esc

Question No. 9 1.00

Bookmark
operating system was developed at AT&T Bell Laboratories in the late 1960s written in C

language.
1960 QEIAR 668 GIGIER, C RIFPIR 69 AFE, ATAT 69m RIERCRETIN (AT&T Bell Laboratories) 62
Tl 6LIR2IQ 2AT695° A9 26% |
(A) O DOS

DOS
(B) O MAC

MAC
(C) O UNIX (Correct Alternative)

UNIX (Correct Alternative)
(D) O BASIC

BASIC

Question No. 10 1.00
Bookmark
You can move your content on a document further away using option.
alaél 299e QULLIR 9F IR @FUEFIELER f’é@mg (content) @ bal 7o Yo (further away) 60QAIRES
I
(A) O MNtalic
QTIRG (Italic)
(B) O Indent (Correct Alternative)
W66l& (Indent) (Correct Alternative)
(C) O Underline
daaming (Underline)
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(D) O Bold
68IR, (Bold)

Question No. 11

The block of text inserted automatically at the end of an email message is called

99 REFIM 651696 (email message) A 66966 JA°PIREG QAR ot} (insert) 62192/ 6‘6‘@99 & (block of

text) @ @6l QEIKN ?
(A) O Email subject
DEFIM 6L (Email subject)
(B) © Domain name (Choosen Option)
651661 69%1 (Domain name) (Choosen Option)
(C)O URL
URL
(D) O Email signature (Correct Alternative)
RELM AG69SR (Email signature) (Correct Alternative)

1.00
Bookmark

Question No. 12

A/An is a basic unit of communication over a digital network.

47 BR0IM 665494 (digital network) QUER FEUTEFIGN G 6847 HE6 (basic unit of communication),

a 2eg |
(A) O access point
2ieedd Tdel (access point)
(B) O switch
4w (switch)
(C) O router
QUL (router)
(D) O data packet (Correct Alternative)
@19 AUle&'S (data packet) (Correct Alternative)

1.00
Bookmark

Question No. 13

In standard keyboard, the keys Alt, Shift and Ctrl are called as
RIS F1691E (standard keyboard) 69, Alt, Shift 99° Ctrl §1 (keys) 9@F
(A) O Function keys
LR @16 (Function keys)
(B) O Special purpose keys (Correct Alternative)
c9821m g6die S18 (Special purpose keys) (Correct Alternative)
(C) O Navigation keys
FIRE019E F1a (Navigation keys)
(D) © Numeric keys
@HGH‘E\‘R @1w (Numeric keys)

1.00
Bookmark

QLIAN |

Question No. 14

Which among the following is not a flash memory?
aq AUQ 68RE 98 FIL 661641 (flash memory) 6% ?
(A) O SsD

SSD
(B) © SD Card

SD Card
(C) O DDR (Correct Alternative)

DDR (Correct Alternative)
(D) O USB

USB

1.00
Bookmark
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Question No. 15 1.00
Bookmark
Using option in Microsoft Word, you can create quick access to web pages with a click.
ARG LE Qe (Microsoft Word) 6Q UGS QULLTIR |, 28 98 FR 6 6EICARYTIN R

2IR6d (quick access to web pages with a click) 98 @QQIRER |
(A) O lllustrations
DmER LG (lllustrations)
(B) © Watermark
QIS (Watermark)
(C) O Quicklink
QREmS (Quicklink)
(D) © Hyperlink (Correct Alternative)
LIRAXMS (Hyperlink) (Correct Alternative)

Question No. 16 1.00

Bookmark
What is Symbian?

S21% (Symbian) &'él ?
(A) O Windows operating system
@64Ie 2196556 A8l (Windows operating system)
(B) © Mobile operating system (Correct Alternative)
6AISINM 2T6RTEP J9el (Mobile operating system) (Correct Alternative)
(C) © MS-DOS operating system
MS-DOS 2196956 d8¢ (MS-DOS operating system)
(D) O Linux-based mobile phone operating system
MGG-6992 671RIRM 6CPIF 26959 d8¢1 (Linux-based mobile phone operating system)

Question No. 17 1.00

Bookmark
What does CC denote in emails?

REFIM (emails) 681 CC @61 456 K697
(A) © Common Copy
A615 @8 (Common Copy)
(B) O Carbon Copy (Correct Alternative) (Choosen Option)
QIge «d (Carbon Copy) (Correct Alternative) (Choosen Option)
(C) © Complete Copy
@¢s @8 (Complete Copy)
(D) © Communication Copy
@FIT6a€a @4 (Communication Copy)

Question No. 18 1.00
Bookmark
option in Microsoft Excel can be used to make the text appear on multiple lines with in a cell.
AIRegILE d6gm (Microsoft Excel) 69 g% __ dd9aq 99 6dm WOER IR AITET 659G (text

appear on multiple lines with in a cell) 6QHIASI AR SUSLIR FALRAIRG |
(A) O Rich Text
Q% 6599 (Rich Text)
(B) O Multi Text
IR 65G% (Multi Text)
(C) © Wrap Text (Correct Alternative)
AU 665G (Wrap Text) (Correct Alternative)
(D) O Auto Text
2601 69'g%F (Auto Text)

Question No. 19 1.00

Bookmark
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The run command that you can use to quickly open the PowerPoint appllcatlon is

ABINAIE 2IJYRAR (PowerPoint application) §1g 66lIRRIG A& 66 Q& @¢ld (run command) QUILIRN
QQIGes ?

(A) O Winword
80aI% (Winword)
(B) O iexplore
AINIFEYR (iexplore)
(C) O Powerpnt (Correct Alternative)
AIGIQTIRS (Powerpnt) (Correct Alternative)
(D) O WinPower
Gad1glQ (WinPower)

Question No. 20 1.00

Bookmark
What is the full form of 'WAN' in networking?

6953IaeP (networking) 620 'WWAN' Q@ qﬂ@ﬂ @'él ?
(A) O Wide Area Network (Correct Alternative) (Choosen Option)
gIQe 992l 6954le (Wide Area Network) (Correct Alternative) (Choosen Option)
(B) O Wireless Area Network
gIRQEme 902l 6854aIa (Wireless Area Network)
(C) O WIiFiArea Network
WiFi 982l 6aeals (WiFi Area Network)
(D) © Work Area Network
gle 92 699'9le (Work Area Network)

5) Current Affairs National and International

Question No. 1 1.00

Bookmark
In October 2022, who among the following has been appointed as the new president of the Board of
Control for Cricket in India (BCCI)?

6N 2022 69, FIMEE FIQ @Y, VNG FERT FEEIM 6915 81 Board of Control for Cricket in India
(BCCI) @ @07 60T604 QAR 7Y 6LIRKT ?
(A) O Jay Shah
Wi I (Jay Shah)
(B) © Roger Binny (Correct Alternative) (Choosen Option)
RAERN &G (Correct Alternative) (Choosen Option)
(C) © Kapil Dev
Adm 699
(D) © Sachin Tendulkar
A58 609MaR

Question No. 2 1.00
Bookmark
Which of the following countries hosted the FIFA World Cup in 20227
2022 60 FIMYE FRIP 68R 694, TP TYRY (FIFA World Cup) R 2I6AIRE SRR ?
(A) O Qatar (Correct Alternative) (Choosen Option)
@6 (Correct Alternative) (Choosen Option)
(B) O Brazil
glam
(C) O The United Arab Emirates
PRINETE 2INS IF6Red
(D) O India
Qe

Question No. 3 1.00

Bookmark
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In September 2022, which among the following airports has been named after the renowned freedom
fighter Bhagat Singh? ]

696AR 2022 69, FIMES AUQ 699 QIR g8 YRIGS! 2PN QOIS B° @ QIFER FIFC 6TINR?
(A) O Chandigarh International Airport (Correct Alternative) (Choosen Option)

2406 REQYLQIM qaIaeale (Chandigarh International Airport) (Correct Alternative)
(Choosen Option)

(B) O Bangalore International Airport

QISPIERIN RELIARYILFIR IIRELNS (Bangalore International Airport)
(C) O Chennai International Airport

65917 RLAGUILRIR ARG (Chennai International Airport)
(D) O Cochin International Airport

65158 RERRYILRIR ggiaeals (Cochin International Airport)

Question No. 4 1.00

Bookmark
Scientists of which country have successfully created the world's first cloned wild arctic wolf?

69 6G9IR 6TRERCNER PRTID AGG TR 9o 6]I8E @IE‘!QEII@‘Q 612l (cloned wild arctic wolf) &
AoR8?
(A) O India
(ol
(B) © Russia
o8l
(C) O United States of America
YUY IR
(D) © China (Correct Alternative)
214 (Correct Alternative)

Question No. 5 1.00

Bookmark
In October 2022, the 'Agri Startup Conclave and Exhibition' was held in which among the following Cities?

A6QIIR 2022 69, 79 FRIQ 676 ILA6R, 9T FIFUY FRERA 2IG IGREAS" (Agri Startup Conclave and
Exhibition) 2g8e 6LInMI ?
(A) O Mumbai
U
(B) O New Delhi (Correct Alternative)
g2l-QR1 (Correct Alternative)
(C) © Chennai
6o%In
(D) O Cochin
6RI5a

Question No. 6 1.00

Bookmark
Who among the following has won the Formula 1 British Grand Prix 2022 Title?

FIRge AU @9, ereml 1 5549 9ig g 2022 SIRSR (Formula 1 British Grand Prix 2022 Title) @088 ?
(A) O Carlos Sainz (Correct Alternative)
GleMIY 698 (Carlos Sainz) (Correct Alternative)
(B) O Lewis Hamilton
e LIANSS (Lewis Hamilton)
(C) O Sergio Perez
69616 6969G (Sergio Perez)
(D) O Max Verstappen
£l 6LYUeds (Max Verstappen)

Question No. 7 1.00
Bookmark
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Which country will host 2026 Commonwealth Games?
6RQ 6Q4), 2026 REIFEAM2 661€, (2026 Commonwealth Games) Q ABARE FRQ?
(A) O Australia (Correct Alternative) (Choosen Option)
26 M2l (Correct Alternative) (Choosen Option)
(B) O Jamaica
@IRR
(C) O India
(NN
(D) O Canada
@I

Question No. 8 1.00

Bookmark
In September 2022, who among the following has been conferred France's top civilian honour for her
contributions in the fields of business and industry, science, medicine, and towards strengthening Indo-
French ties?

6969 2022 69, YLD I9° Q6ERUIG, TRIF, TTY 6ITER AR IF° RES-6CPE E‘Iﬁ‘iﬁﬁi 7199¢ @59l
Qo609 QYMEle FIR FILIg, P19 96918 @1915\@ Q4R (top civilian honour) 99IF SAUARE?
(A) O Rahul Bajaj
QAULm QIR
(B) © Gautam Adani
69lloe 2R
(C) O Swati Piramal (Correct Alternative)
gIg1 dRUFM (Correct Alternative)
(D) O Aadi Godrej
21 69196@

Question No. 9 1.00

Bookmark
Which country will host the Shanghai Cooperation Organization (SCO) Summit 20237

669 694, AIPAIR A6 A°GI08 (SCO) ARARE1 2023 S Shanghai Cooperation Organization (SCO)
Summit 2023 Q 2IELIRE FQR?
(A) O India (Correct Alternative)
WIQE (Correct Alternative)
(B) © China
19
(C) © Uzbekistan
QRELALIS
(D) O Russia
Qe

Question No. 10 1.00

Bookmark
The 17th G20 Heads of State and Government Summit was held in which among the following cities?

17 G61 G20 QU €814 99° YRR AFRK (G20 Heads of State and Government Summit), FIMEYS F1IQ
699 IR AGYE 6LIRAMI?
(A) O Paris
auiag
(B) O Bali (Correct Alternative)
QI (Correct Alternative)
(C) O New Delhi
Q2 AR
(D) O Osaka
G4
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